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LISTENING 
Ex.1. Listen to a conversation between an IT worker and a manager. Mark the following statements as true (T) or false (F).

1. Open source software has an increased threat of viruses.
2. Samba automatically reconfigures TCP/IP protocols.
3. The manager does not approve the man’s proposal.

Ex. 2. Listen again and complete the conversation.

Manager:     I assume we’d still have to buy antivirus software that 1 ______ _____
                      Linux.
IT Worker:  2 ______  _______ ______ - even the security software is free.
Manager:     I see. Still I’m not comfortable 3 ______  _______ __________.
IT Worker:  We don’t have to. OpenOffice is 4 ______ _______ with Office and      
                      other programs.
Manager:     My other concern is printer trouble. I don’t want to install Linux and
                      have our equipment suddenly stop working.
IT Worker:  That’s why we’ll get 5 ________ ________ _________. The print 
                       server will act as if nothing changed.
Manager:     That sounds too easy. Surely there’s something else to it.
IT Worker:  Actually, I’ll have to 6 _______ ________ _______, but that’s  a 
                      a small task.     
